E(RER D ARIE)

=[x
1]

B9 B EEE

THRER L

xiE  BUR. LER

1:25,000)

(s

~
~
4.

1

_.P

|5
- K
mmnnz & |H
SEIEEL
2|5 F @
210 = x|
M__w X |
s £ [{E

&
o (o R (ER
HEH
S | i
& [
m e K
&
.EMEME”.E_M_._..___H

1:200,000)

iER(S




RIEMBOBERERERZ

HR3—1 BEOSTAOHDILH. ELLVBEDSTNADHLLBDOREH HEEETE T 25 SE
2 18 & 0 i B ERES 15481002 | BAr& | LT | AfEdh BN T R X AT T

N

I
|
A T

[ #FLVWEEOEThOHIIORE
BEOBFhOHDLHDRKI
[ tr%o##EE mEBZHE
TREDBEIZLDNA100kN/MEBZ2HHE
— (R




AIER b AR X EGEH =

B3 —2 BEMICERATILBESNOEEICE I HEE1/1) _ _ REEE Ik 25F &
2MEFRMOME | BMES | 15481002 | B4 | VS [ midets [ i kRIS B |
) SERMO TinICHEET S ZERH A
ﬁg TREOBEBOSILHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
5 X 4 B | Timh o DR jij%é R 4 TiRALDKE [ FE me%é R 4 B | LmAhoDE jjd)kéfé K 4 HiEhooks | & jmjtéfé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 477 59.50 | =hds\ | 000 ~ 000 1.71 8.67 st 1.00 | 6.00 ~ 5.00 59.50 | =hs | 6.00 ~ 5.00| 1.71 867
2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.15 7718 | #hSY 000 ~ 000|172 8.68 st 1.00 | 6.00 ~ 7.10 7718 | ThSY | 500 ~ 710 1.72 8.68
3 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.62 70.15 | ThSY | 000 ~ 0.00| 1.57 7.91 st 1.00 | 6.00 ~ 6.80 70.15 | TN | 6.00 ~ 6.80| 1.67 7.91
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ ZFhLst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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